LABJNDu3 standard lightnessL*
Yn=L* w

nc=100,

L*

L* | aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=218 L* ,(18)=496 L*y,(90)=772

log[L*/L* ]=0, m=0,33
L* ;=49,L* =496

LABJINDu3
tristimulus value difference

YaceL*w - ne=100,

L* L aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yad/ 100<Y<=Y0)
dY=Agn(A1+AzY)  Ag=0,017, A4,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019

aT)pTication-
range
1 Y,=18

log AY/Y)
S=(AY/Y)

LABJINDu3
tristimulus value sensitivity
Yoe=L*w nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y Y

l0g(dY/Y)E-2,16 m,;=-0,10. ~
* =496 dY,=0,12 dY,/Y,=

application

YN=3.6  Yy=90

log (Y/AY)
C,=(Y/AY)

LABJNDu3

tristimulus value contrast
Yo=L*w - 6 :ne=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 2nA0n)] (Yac/100<Y<=Y,o)
YIAY=Y/[Agn(A1ntA2nY)]

=496, dY,=0,12 Y,/dY,

log(Y/dY)=2,16 m,=0,13 - =

147

application’
range

LABJINDuS3 relative standard lightnessL*/L* ,
Ync_L w

nc=100,

LA

L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=218 L* ,(18)=496,L* ,,(90)=772

loglLr/Lx,
L*, =49, L* ;=496

TINE86 T Yg=90

log(A Y/AY W)
AYIAY,

LABJNDuS3 relative
tristimulus value difference
Yoe=L*w ~ ne=100,

L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
dY/dY,=AgnA 11+AanYI/dY,

1 a;plicatijn-
1 range
1y,=18

Yy=90

log [AYY) I (AYIY),]
SSu=OYN)AYIY),

LABJNDuS3 relative
tistimulus value sensitivity
Yoe=L*w -~ ne=100,

L* L aBanDuz=[IN[(A 10+ A2 )I(A2nA0n)] (Yn/100<Y<=Y,0)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

log[(dY/YY(dY/Y),]=0, m=-0,13 -
*,=496 dY,=0,12 d¥,/Y,=0,0067 ?g’,ﬁ’é‘ga“‘)”
1y,=18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDuS3 relative
tistimulus value contrast
Gl =(YIVI(YIAY), o 2w S 2210
L* Laganpua=[IN[(A 1n+A2nV)J/(A 2rAon)] (Yac/100<Y<=Yyo)
YIAYYCYIAY ), =(YIYIAY L )TA on(Arr+ AT (YY),

log[(Y/dY)(Y/dY),]=0, m,=0,13

* =496 dY,=

|
12, Y /dY, aa7”

application’
range
Y,=18

Yy=90

=
1
1
1
1

YN=3.6




